sl
Solve. (x+6)>-7=3
47 H=

(x93 ~0)™
X+He = (00

K= Ty

Solve:

Jox —11 +\1=x
- ]

(ax n) =) = Bl
Lo, = SXOFY o o |

O & = 1%
O = (x-6)x-2)

() 0"

Solve:

5/x+6 —x = 4x

&% N

5

Solve

SyXthb — 5%
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L #-1

—Rx—5 =X = +Hx Yy
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Qm >: @ ) 2_ (m)i@ﬁ> : Solution is: ~2.3
N

. X = -y XL~7 T ><~_’1,5
A RSO “XH XY
(X &-2) = 0 X Z—X-[,=0
><:></~</ <><_3>(>< 12) =0
Solve: s ol Solve
Qg—uyﬁ%é+n% @+® _(x+8)T =0
Ay—10 = ixﬁ <<><A‘_(45 > QX%% >
— X -
W
—b =77 el
e JJDQ LB X%@ X%’g Xl “%} X
2 e =
o % +2x+%@‘~X%@ o

@%@QVﬂ =0



Solve this equation.

\—5)4—6—_

E(x S)j -8

X% =1
X =2

You can now finish Hwk #18
Sec 7-5
Pages 394-395

Problems 6, 7, 9, 17, 18, 21-23, 54

Due tomorrow



